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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

ol AARY e .

(a) Mention one need for studying
economics.

weﬁwawwaﬁmmmﬂwn

(b) Define market economy.

IR SRS TR e |

22A/428 ( Turn Over )



(2)

() What is elastic demand?

feforere viRm 5 2

(d) Draw the perfectly inelastic supply curve.
7o)l SRS (oM (TSI %t 391 1

(e) Define an inferior good.

g8 ST vzl fi |

() What is income consumption curve?

Iy Topgsie @9 [ 2

(g) Distinguish between short run and long
run with the help of fixed and variable
- costs.
F1 o ARG WA GRIR RS ZTIE
IF TP N a4

(h) What is producer’s surplus?
Teoime B 32

(i) “Supply curve is not relevant for
monopoly.” Why?

“ GO TERS AN [RYR Ao a0
152
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(3)

() Why is the average fixed cost curve
rectangular hyperbola? ‘

5% 77 T (@IoE & TN RIS =2

2. Answer the following questions briefly : 2x5=10
Toq 2PICAIRA oY Beq fra

(a) Distinguish between positive economics
. and normative economics.

fffes W@ e Ao TRty o
el T T4 1

(b) - State two exceptions of the law of
demand.

vifw RfRCoR o1 Apfowrs Brar w41 |

(c) Distinguish between ‘change in demand’
and ‘change in quantity demanded’.

‘SR RTS e PR ARNER SRS
v ~Nefe e w1

(d) Prove that two indifference curves do not
intersect each other.

oW T @ OA WCTF (AR I FRI
FRIA |
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(4)

(e) Why is the long-run average cost curve
‘U’ shaped?

TSI IS T @RI ‘U’ SIpfn Ry =7 2

3. Answer any four of the following questions :
5x4=20

) AR R @1 wiRbR Sey fg

(@) What is budget line? Why does the
budget line slope downwards?

Wmﬁww@mﬁmmg—cﬁm
_?

(b) Distinguish between norma] goods,
substitute goods and complementary
goods.

msmmﬁ,ﬁwmﬁtwwﬁmmﬁa
TES NP T T |

() What is monopoly? Explain why the
marginal revenue curve of a monopoly
lies below its average revenue curve.

GFCOOA TN < a0 | oo qwT e
S TR W @R e weem 0,
T 40
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(5)

(d) Explain the behaviour of profit
maximizing firms with the help of
marginal revenue and marginal cost
approach.

AET OF W AT WA NIRRT TS
R 91 ATSHI =639 IR 90 |

(e) Explain that substitution effect is always
negative.
IR TN A AT Rl s s |

() Derive demand curve for a Giffen good.

ﬁmm@asﬁmmquw‘&,
foram o

4. Answer the following questions : 10x4=40
o 2R Seg
(a) Explain how the price system allocates

resources. 10

v IWER (T @ RGN $CE,
1 |
Or / 931

What are the main problems of an
economy? How does a free economy solve

them? ' 3+7=10
wflifes @ TR & {2 T wdtaies
TREE G2 PR AR T ¢ 2
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(6)

(b) What is price elasticity of demand? What

are its determinants? Discuss. 3+7=10
v W fEfemere 79 TR Rz &
& 9 SIS 34 |

Or / 911

Explain the concept of marginal rate of
substitution with the help of diagram.
Why does marginal rate of substitution
diminish? 6+4=10
foaq e ofes afoFsm /T 4IRS
390 | 2 ARIeR TR 9 FRpwE = 9

(c) Explain' the determination of wages
under competitive labour market. 10

AfRTOFe IR RS R PR efem
T 4 |

Or / g1

Derive input demand curves, Discuss the
factors responsible for shift in input
demand curves. 6+4=10

AW SR (R] {R"l‘% A ]| SoAmER

-w&mmmmmw[
0|
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' (7)

(d) What is price rationing? Analyze the
impact of price rationing on the market.

2+8=10
w3 FAeFC 7 T IFTSRACT IHW 4O IRI
/1 2o Ko 311
Or / §3<1

Discuss the factors responsible for shift
in the demand and supply curves. 5+5=10

W&mwmmmm@ﬁ—m%m
e F4 |

* k %
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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

wore frarTyey R Tea fi

(@) IfA={a b ¢} and B={L 2, 3}, are they
- equivalent sets?
M A={a b c} WF B={1, 2,3} =, (@
52l BT ANV A ?
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(2)

(b) Give an example of disjoint sets.

fften AT b1 S faam o

(c) Is (2++/4) an irrational number?

(2 +/4) b1 eI =AW WA 2

(d) Given the function f(x) = ax+b, find the
derivative of f(x).

f9) = ax + b FIHR f(x7 ST Sferea |

(e) Find :

T fefa w1
23/4
o174

() The graph of the rational function y =%

or xy=c is known as (exponential
graph/rectangular hyperbola).
(Choose the correct option)

y=§ﬁlxy=c¢mﬁm N ____ I

I/ | PR (@21 / SRR “HS)
(o ! R Sireqy)
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(3)

(g) Find :
W fefa 740
Iesxdx

(h) Writea polynomial function of degree 4.
4 T «Br IR e o |

(i) Write a null set.
a1 B e o |

() Find the second order derivative of the
function y = 7x-9.

y=7x-9 FTEOR fEE TN SEEE
Tferear |

2. Answer the following questions : 2x5=10

e T epprEd T fl :

(a) Find the Cartesian product PxQ from
the following Sets :

Wﬁmﬂ%ﬁﬁﬂ"ﬁl@@%ﬂﬂ"ﬁm PxQ
fefg 941 ¢

P={1 2, 3}
Q=1{x y}

20A/429 ( Turn Over )

R



(4)

(b) If the domain of the function y =10 +5x
is {x:2<x<4}, find the range of the

function.

af  y=10+5x FWOR  wifcEa
{x:25x54}§a,mwﬁﬁﬂﬁﬂaﬁ=ﬁ
40

(c) Evaluate :

= fAda w1 :

x2 -9

m
x-3 (x -3)

(d) 1f AR= ¥ 30 and price elasticity of
demand is 4, find MR.

M AR= ¢ 30 uF oRwE W Fomewe
4 79, (o8 MR 1 &1 |

() Examine whether the following function
is convex or concave :

woTS fRa Fomch! wee (7 Tae, IR
f)=x?-4x-5
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(S)

3. Answer any four of the following questions :

5x4=20

were fdl TRl R et BRI Tew i

(@

(®)

(c)

22A/429

Verify the properties of union of sets by
taking numerical examples.

TR SR o AR Mo R aferm
0

Show that the following function is
discontinuous at the point x=0 :

oo fr wemor x=0 Rye Rtw
e

fd=1, x>0
=0, x=0
=-1 x<0
,
Find 2% and 2% for the following
axl Xo
function : 2'4+2'2=5
0
wors fra woOR a1 Y Y R
a Xy aX2
3941 .
_5x +3
)C2 -2
{ Turn Over )



(6]

(d) Find % of the function y =i using the
definition of derivative.
T T o 3Ry = R
A 1

fe) Find the relative extreme value
(maximum or minimum) of the following
function :

e fam FemoR wefEe v W (A
=Rl SHRE) T

y=5x2 -30x+15

(/ Compute marginal productivity of
capital (MPy) and marginal productivity
of labour (MP;) at K =1 and L =2 for the
following production function where Qis
output, K is capital and L is labour :

2% +2%=5
Q=3KL? +4K?L +2L +2K
ﬂﬁK:{l e L=2 W, (5@ e fi
BT FEOR o[ oL A SeoqmaAerer
MPy) OF =R oIeF Beelmierel (MP,)
R w9 T'e Q WA 7 P B, K Mw
T WIE L A 2

Q=3KL? +4K2L +2L +2K



(7)

4. Answer the following questions : 10x4=40
TS fira eppiyRa s foan
(@) A monopolist demand curve is given by

P=100-5Q where P is price and Q is
quantity demanded.

oo Rcerer wifdm @1 3 P=100-50
Y I'° P NA W@ WF Q WA SN ok
o, (o8 '
() Find the MR function.

MR %o fafg 31;

(ii) Establish the relationship between
slopes of AR and MR curves.

AR 9¥ MR @IR T & 5= Fiof
;]

‘(iii) Find the price at which MR is zero.
. 2+4+4=10

MRaﬁrﬁmﬂ,é«ﬁﬁwl
Or / 911

State and prove the product rule of

differentiation. - 10
Faeerd R TR [ fm wre o
9 |
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(b)

()

22A/429

(8)

Derive the following relationship
between  Average Revenue (AR),
Marginal Revenue (MR) and Elasticity of
Demand (e,) : 10

T 9F (AR), e =@ (MR) ©& wilEwE
fefSgrerror oM o Tgcht SRmiR e

AR
ey =——
AR-MR

Or / gy

Given the demand and average
cost function of a monopolistic firm
as P=32-3Q and AC=Q+8+%
respectively, what level of output
maximizes total profit? What are the
corresponding values of TR, AR, MR, TC,
AC, MC and profit? 3+1+1+1+1+1+1+1=10

G GPCOORT 2SI B W ST A e
FEE o tmr, P=32-30 W=
AC=0Q+8+3 | P @ 7w @R IX
TR oA R 290 B e R
TR, AR, MR, TC, AC, MC % = Taq |

(i) Derive the TC function from the
given MC function, MC =3Q-4,
when total fixed cost = 100. 5
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(9)

o1 I T, MC = 3Q —43 {1 P |
Fow (TC) Sfie M P & W
100 = |

(ij Find out the saving function, given
MPS=1-0-2 y1/ 3 with zero saving
when income y =125. 5

AEE W W W y=125
=, (oo AfdF ER o,
MPS=1-0-2 y/3 Tamg @ AER
FANCH! Aefg 30 1
Or / 91

(i) In a market survey, 200 consumers
were interviewed to give their
preference for two products X and
Y. Survey results show that
110 preferred product X and
120 preferred product Y. How many
of the respondents preferred both
X and Y? Draw a Venn diagram to
show the result. 5

B TEE ARAWS P TR X WE Y I
o €IS 200 (SIGW bl
AFRIE T2 9 2 | TRwS
o' (@ 110 T (ST’ X STHACG o
120 TTH Y FACH 6% I | e
oo’ X F Y A TR 5 T2
e CTYRIRCA B (o o g 3/ |
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(10

(i) Explain the concept of
Quassi-Convex and Quasi-Concave
function. 5

Co-oged UIF Oo-%ee TR 4RO
Raferan

(d) The total cost function of a firm is given

by C=Q3 -602 +2Q+50. Find the level

- of output at which the average variable

cost (AVC) is minimum. Also show that
AVC = MC at that level of output. 7+3=10

a3 oafSPME  Jp  IW TRl M
C=0Q3-602%+20+50 =, (=@ *I©
*fReS er W (AVC) HRE @81 Teoimas
oW SRea G Sem vRWiee
AVC = MC 3 orysan |

Or / 31

Evaluate : , 2x5=10
T e

) %(ﬁ +3)x7!
@ I:2x2dx
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(11)

3_i_ x E
(iii) j(le = 2e +x)dx
(iv) [xe*dx
() L 5x2 +3x42)°3

dx

* kK
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